9\'0"3‘“??55\!\!\'\“9 10/12-13

Ob\\q,ue nadene ot ¢ Plcw»e die\ecthc bowlckmj-

Pecpendrod e polavization
e-Helh s PeVpLndacLdee to Hae plane ot Tngdana,
N ~X
e it
E¢
Eg v;'\\t
O, B Re
8, | T
W,
I g
E4
V’L“‘E,,/u, qu_:‘az:/u‘z (V\jf \}%)

Ni= £ = gi_msﬁ_i-_f&[c_%ﬁt
Tio 200583 TP}, Co 38y
o Sy =4
/r:\__ = Ed:h. - _ 20,0055
T-o Y\..,_c,os\en' + VL,LOSﬁb

Povalell 'Poio.v’\‘-tak’\on
T-6eld 5 .b:j'm::} n e plane of T dutace .

N2

Ve Ev v\ = E@ = VLQCOS‘@\-_— N, 0%,
ne P

& =5 v‘bmgﬁt + ¥ cosBy
. =% - Q_Y] A
1 P+ s 2
O /@/?Zt
7%

T.a %L&_e,:, -ﬁ-\(b Cos®yy

\* T\\ =(r\\




Q=0 = V'L.:_f.fC)S'e-i= N2cosBe

cosO = N1 - sintd, —S‘e—“—-’; cose,,;“ﬁ-(fbysm‘e.‘.

L4
ﬁ SinO4 =5'un'6%_1_‘-' \ - 14
ﬁ- 7

v
13 M= e =2 Bg Le’s wok eyish

\i=0 =2 Vtu-ose-'c = V\‘,C TS Wi

e@ S5 ‘fe; = S.\(\ee“ =
CosO% = /\i\ - Sin%0,

= \“M'LQ //L{E‘L
b ~fEs =t

#q_ ® fry 3 Sy, = | = -\-5,“-68“-: Az
W& )\

| k18

irz,vdcw- CYDSS sechon wire.
LS 0\’ O,\w-\r\n
&= 5 10°S jm
/_ur L)

Colevdute thne vake of ¥ cresistmme at €, =5Utte & €,= (oM.

S dpth = SRS, st b
-F'orv%oodP:oncLuohr » 8 'd-ﬁcjué (éﬂ» €% )
€ =S0Hz = g ’g 2 T (c=0, |WM\’

£, 21010 = §,= 4. (o“’

§, & = cunenrnt dust. on Hae wlaole  Cruss - saken,
Sz(‘ﬁo‘ = — 1 —— on athin ,La-.jﬂe.,r

R, L= L

?\1"L—:

I P
bS,.  b7Tad,
%,:—-—'L" 2—5.3_ OIL*"L i

Sy

The wesise axr GO 35 ogpox \A o of ¥t He (o A,



1%,
- A plave Wove N VoLl Inddamt novmaatiy e
o Flor s o 2= 0, of o Losg Res dael\ectic, g ~=4,

E = RiOcostwt —22) , £=200MH=
Rad +ne &ocﬂ:ﬁ\o& 2{’—}@0\% Lor £ €l i vocuii,,
T Cwok (Bcpt),

?-0 i\ﬁ:q

Bi= X 10¢€ ) E.=NE;-TR e AT

-
V:re.{-\,cocﬁ‘—'ﬂz-Vleg%r_’l%::lbﬁc.‘_L:M_r_Lz-J.
G AR el

—_ 4_:, =2
—— P,-_‘—_Y__-.—B’ge, &

— - c o 3 Yt

B R0 575 0"%) = X (10-5¢" e

= | B l=110-5777| =\\o—~Scos(fz{sa-gasm@éa\
Re ' Vv

[ =N ='\f(\ 0-Scos(zAr N+ 255w (232) =1 25 — 1m0 cos(242)

__l_@hl\w(

cos(2pa)=—\ =% | B logr V225 15

2 R E = — (2T =S '-',_Lm”-:-_—-g 2n+ T
2p

ﬁ=5¢9-=_zﬁ;3_'_l-0-8-;2ﬂ == Rpox” -(Zn-v\)?é.___ ~(2n+))
= 5 - \0S 2. 24 4

(h=0,\,7,... )



| 3. 14
A Lot beom is bvoken oand *rc:!m\hj veected tn a
A05s0eSS PATM. Refaction s ot Brewster Faniyle . Retumn wowve

15 povaldedd +o inuckent wwe.
nd a suiknble vange £or (wn),

@ Brewoster ovale at st interface:
Tan€g = n v

Y

o (1171-0(0) =N

Ne=
@ Swells Law of vefe., st intext, : .
SN (M2 - )=Nsing r;‘_aE |‘o\he-——-' o
C
@ Tot) re€lection, 2 v inters. » am?q‘fp,ws . \
WS 1st -?%u vefxaction
@ Swell's Law, 2nd intect. - A

S‘LV\'GC'V\ = S-\V\m‘z_ i
stnd = \/n

ta A Qe -
®m+(T\7:\:}’s)+E:T
Suppose  ¥=B¢ (fnna =\/n)
S‘}?\P(Oljr/z-e()= htos&'ﬂz-d) = (o= N Tind

@ cosd=nisingp
i

@,@ ¢ sin =S inBc=sin(Vz ~ (d\-(g\) = \/V)
= cos(A+ (Y = Vv = Cos2z==\[n

cos(2a) = L = Foudch — L = {nm(a)ﬂ/m?s:.-) AR \[v

L o p W Ve (Y
= w-nEn-\= O
== Vi¢=\,¥39
Ve incrense == from d=r W\l decceate = ¥ WG e cvease

Frown S wh decrease
So 1§ NN = ¥ 2 B = totod refrackion ot Znd iniecrtuce



